0UT:1-2-3+4-5-9 IN:10-11-12:13-16-18

BEINT T2 AT 4730V

ELERED v b Y —{BEE

JEHL K % OUT | IN lcross| HDCP [NET|A || 4E  |IBAC K £ oUT | IN [cRoss| wDcp [NET| A || #&E
BN —F 38| 40| 78| 8.4]69.6 51 || fh 43| 45| 88| 14.4] 3.8
EE(EE M 30| 44| 83| 13.2| 69.8 52 | 1 42| 40| 82| 8.4| 3.6

3 |FER b 42| 48| 90| 19.2]70.8 53 |{fH BB 43| 44| 87 13.2|73.8 NP17
T4 oA B 41| 43| 84 |13.2| 70.8 B4 |#Ak B 42| 39| 81| 7.2| 73.8

5 £ EA 42| 41| 83 |12.0| 710 55 |4 Wt 45| 48| 93| 19.2] 73.8

6 |EAR IHER 40| 37| 77| 6.0| 7.0 56 | 7)1 KEVE 42| 39| 81| 7.2|73.8

7 |\LF BE= 39| 37| 76| 48[ 712 57 |FkA BRUKER 20| 41| 81| 7.2 738 DC7
8 |B{T ER 41| 40| 81| 9.6|71.4 58 | Fril sk 41| 46| 87 |13.2|73.8

o |HH 2 37| 43| 80| 8.4 716 50 |JEE [ 51| 42| 93] 10.2] 73.8

10 (BB Ea 46| 46| 92 |20.4| 716 60 |H3 (HE 42| 38| 80| 6.0 74.0 NP13
11 |{EE B8 45| 41| 86 | 14.4| 71.6 61 |EE 5%k 38| 42| 80| 6.0| 74.0

12 |&3 F—ER 51| 46| 97 |25.2| 718 62 |thig =R 40| 40| 80| 6.0]74.0

13 |=% &% 40| 38| 78] 6.0|72.0 63 |ZeA Hi— 48| 24| 92 18.0] 74.0

14 |# =B 41| 42| 83 |10.8] 72.2 64 (B —4 41| 45| 86| 12.0| 74.0

15 | &= Tar| a4l 71| -2 722 N 65 |ILA % 43| 42| 85 10.8] 74.2

16 |BIF FRHA 42! 41| 83|10.8]72.2 66 |HE BF 42| 43| 85| 10,8| 74.2 DC7
17 |HR Bk 43| 45| 88| 15.6] 72.4 67 |HE 3k 42| 43| 85| 10.8| 74.2

18 |AK 2# 48| 45| 93| 20.4|72.6 68 | il i 43| 42| 85(10.8| 74.2

19 (A% {E— Ta2| 45| 87|14.4| 72.6 69 | KA EZ 43| 42| 85 |10.8| 74.2

20 |BHF WF 45| 42| 87| 14.4|72.6 70 |BA tE 49| 48| 97| 22.8|74.2

21 |FE B 42| 39| 81| 8.4;72.6 71 [/NEE EA 37| 36| 73 |-1.2|74.2

22 | B BFE 39| 42| 81| 8.4|72.6 NP8 72 |HE & 38| 41| 79| 4.8|74.2

23 |4 EE 49| 43| 92]19.2|72.8 73 |fEx K 2|E 42| 48| 90| 15.6| 74.4

24 |BE M sl a2l 80| T2l || 74 |JE0 EH 40| 38| 78| 3.6|74.4 NP8
25 |HigE E¥R 51| 47| 98 |25.2| 72.8 75 | UA  EfE 37| 41| 78| 3.6| 744

26 |HE  BER 40{ 39| 79| 6.0{73.0 76 |EsE YA 39| 39| 78| 3.6|74.4

27 |fERE B 45| 46| 91| 18.0] 73.0 7 |EE B 50| 46| 96 | 2L.6| 74.4

08 |EjE = T38| 35| 73| 0.0/ 73.0 78 |EHE —4F 40| 43| 83| 8.4|74.6

29 |fEM #E 42| 49| 91| 18.0[ 7.0 79 |E@ @ 49| 46| 95 |20.4] 74.6

30 |k B 39| 39| 78| 4.8|73.2 80 [lkE HET 45| 44| 89| 14.4| 74.6

31 |l R 45| 45| 90| 16.8| 73.2 8l |AH #BE 36| 47| 83| 8.4|74.6

32 |4H Et 44| 46| 90 | 16.8| 73.2 82 | kil HE sl 24| Tes (s |
33 |BFAT WAK 42| 42| 84| 10.8|73.2 83 |HE {EH 20| 42| 82| 7.2\ 748

34 {liA — 40| 38| 78| 4.8|73.2 84 |HEH L= 451 49| 94 [ 19.2| 74.8

35 Wk 1= Ta2| a7] 89| 15.6) 73.4 85 |EA BT 43 39| 82| 7.2| 748

36 || A 47| 48| 95| 21.6| 73.4 86 |/NEF B 40| 42| 82| 7.2|74.8 NP17
37 (M T T37| 40| 77| 3.6| 7.4 87 |fRA Kk 48| 46| o4 |19.2] 74.8

38 |ED BB 40| 37| 77| 3.8|73.4 88 | A FEE 43| 45| 88 |13.2|74.8

39 |l YA Ta7| 48] 83| 9.6]73.4 80 |mefs 1595 45| 42| 87| 12.0]75.0

40 | FAE B 401 37| 77 3.6|73.4 90 |BE)Il HE 45| 48| 93| 18.0]75.0

4 |XE R 2| 41] 83| 9.6]73.4 o1 |m@m wE— 47| 40| 87 [12.0]75.0

42 |BEH FHH 43| 40| 83| 9.6]73.4 02 |RIE M 43| 44| 87| 12.0] 7.0

43 |EF KR 40| 43| 83| 9.6] 73.4 93 |liA —% 44| 42| 86 | 10.8] 75.2 NP3
[ me | 49| 45| 94| 20.4| 73.6 o4 |BED BT 44| 48] 92 | 16.8] 75.2

45 |JEK B w2| 40| 82| 84|38 95 | LBF #B= 42| 43| 85| 9.6]75.4

46 |EE EiE 45| 43| 88| 14.4|73.6 96 |JEE T 38| 41 79| 3.6]75.4

47 | B 44| 50| 94 |20.4| 73.6 o7 |FABT T 54| 43| 97 | 21.6] 75.4 DC16
48 |#E TEH 39| 43| 82| 8.4|73.6 o8 ||UE %z 48| 48| 96 | 20.4| 75.6

49 |FH = Ta1] 41| 82| 8.4|73.6 99 |[B # wl w0 (el |1
50 |/NAJI BES 43| 45| 88 |14.4[73.6 100 |& 3¢ 42| 42| 84| 8.4|75.6
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BEIAT 7= AT 4700

BIMER 1 FRk29410A17H

UT:1-2-3-4:5-9 IN:10-1112+13-16+18 BIERED > b Y — (B
NERL ® % OUT | IN |GRoSS| HDCP [NET|A || #E  |IBAL K % OUT | TN |cRoSS| HDCP [NE T|A || #E
101 JRE =EZ 43| 47| 90| 14.4| 75.6 151 [Ae &=AF 41| 41] 82| 3.6|78.4
102 [KE BA 53| 55| 108 | 32.4] 75.6 152 |EFRT #RE 46| 54100 | 21.6] 78.4
103 | Fi #E 46| 43| 89 | 13.2|75.8 153 [F7H ¥R 49| 44| 93| 14.4|78.6
104 |ZR%  #ER 47| 42| 89 |13.2| 75.8 154 | HE %0 46| 47| 93 |14.4] 78.6
105 | KRR 45| 44| 89| 13.2| 75.8 155 | A HBA 44| 43| 87| 8.4| 78.6
106 |50 5 50| 51101 | 25.2| 75.8 156 |k = 45| 48] 93| 14.4] 8.6
107 |EK 43| 45| 88 [ 12.0| 76.0 157 |36k &% 49| 43| 92| 13.2]78.8
108 |#AH = 46| 42| 88| 12.0] 76.0 158 | HARS 3% 57| 58| 115 | 36.0] 79.0
100 |[#AH  #k 49| 45| 94| 18.0] 76.0 159 [/ 55 50| 46| 96 | 16.8| 79.2
10 |[HE ks | 47| 47| 94 | 18.0] 76.0 160 |f@A 45| 45| 90 | 10.8] 79.2
111 |[RE #H*x 45| 48| 93| 16.8| 76.2 161 | EB RE 47| 42| 89| 9.6/ 79.4
112 |BE #&E 50| 49| 99 | 22.8] 76.2 162 [S7A & 51| 50| 101 | 21.6]79.4
s |FHE HE 46| 47| 93| 16.8] 76.2 163 |EH REE 46| 43| 89| 9.6]79.4
114 |[EH EE 1750 55| 105 | 28.8] 76.2 164 | AT 48| 52| 100 | 20.4] 79.6
115 | PG el 44| 43| 8710.8] 76.2 165 [Pl TEA 56| 55(111 |31.2]79.8
116 |[EH = 46| 45| 91| 14.4]76.6 166 | FH %A 52| 57|109 | 28.8] 80. 2 NP3
117 |Gt Fobg 43| 42| 85| 8.4]76.6 167 [fAT  {ERH 54| 53| 107 | 26.4] 80. 6
118 | R 9FF | 46| 51| 97 | 20.4| 76.6 168 | 4Tk 45| 47| 92 | 10.8] 812
119 | 5@ 3 43| 36| 79| 2.4 76.6 169 | \BRA 53¢ 50| 48| 98 |16.8| 812
120 |/ EeE w| 11| s5| 84|68 | | 170 [H 2= 53| 429|102 | 20.4] 816
121 B #Ho 44| 47| o1 | 14.4] 76.6 71 |EE B 53| 47| 100 | 18.0] 82.0
122 |49 =W 45| 45| 90| 13.2] 76.8 172 |[EE &% 57| 54| 111 | 28.8] 82.2
123 B3 BiE "53| 49|102 | 25.2] 76.8 173 |EX HX 52| 53| 105 | 22.8 82.2
124 |BERR EZ 43| 41| 84| 7.2|76.8 174 | FA HBH 54| 57|111|28.8|82.2 DC16
125 | HEE Bl 44| 46| 90| 13.2]76.8 175 (O 25 56| 53| 109 | 26,4 82.6
126 |BEZ HBEF 50| 51| 101 | 24.0] 77.0 176 |55 BT 54| 51|105 | 21.6] 83.4
127 |5Fk  BE 54| 47)101 | 24.0( 77.0 177 |BEFE  TRER 53| 511104 | 20.4|83.6
128 |LEF M 46| 49| 95| 18.0] 77.0 NP13 178 | R {5 63| 63| 126 | 36.0| 90.0]
120 | EAL E2 47| 42| 89 | 12.0] 77,0 179 |IEE  thE ‘66| 69135 | 36.0] 99. 0
130 (B B 45| 44|89 | 12.0] 77.0 180 |FoM  HE—ER 82| 75| 157 | 36.0[12L. 0
131 [ 2 37| 45| 82| 4.8|77.2

132 [HAF  ZHER 46| 47| 93 |15.6| 77.4

133 A B 47| 52| 99 | 21.6| 77.4

134 |$B% % 47| 46| 93 |15.6| 77.4

135 |EE EH 57| 53] 110 | 32.4] 77.86

136 |5 BT 54| 44| 98| 20.4| 77.6

137 |# 50| 48| 98 20.4]77.6

138 |JIIF —#% 49| 54103 | 25.2|77.8

130 |EA T Ta7| s0] o7 [10.2] 778 \

140 [ AP # 46| 45| 91|13.2|77.8

141 |EFL B 45| 46| 91 |13.2|77.8

142 [EAR BA T L

143 [0 E I e e

144 |BA R 30| 46| 85| 7.2|77.8

145 | R 1Ak 18| 51| 109 | 312|778

146 ¥ BIE 53| 49102 | 24.0| 78.0

147 | 48| 48] 96| 18.0|78.0

148 [Bak BwE 45| 45| 90 | 12.0] 78.0

149 %% T 47| 54| 101 | 22.8] 78.2

150 (A DK 46| 55101 | 22.8] 78.2
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